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jcos(ax +b)dx =— sm(ax +b)+c
a

[sin(ax+b)dx =- ! cos(ax+b)+c
. a

[ sec” (ax +b)dx= ! tan(ax +b)+c
’ a

e.g. (i)jsin 3xdx = —%c053x+ c

(ii) j cos(l—5x)dx = —%sin(l —5x)+c

(iid) | secz(;jdx =2 tan(;) te
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(iv) j sin 2xdx = {— 5 C08 2XL (V)J xsec x dx = ! j 2xsec’ x’dx
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(Vi)J sin’x dx cos20 = cos’d —sin* @ |
1 =1-2sin’ @ =>sin’ @ = —(1-cos 26)
= I (1—cos 2x)dx 2
1 1 =2COSZ(9—IZ>C082(9=1(1+C0826’)
_ ( - j 2
=—| x——sin2x |+c
2 2
x 1

= ———sin2x+c¢
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(vii) | tan xdx (vuz)J cosxsin x dx u =sin x

T 0 du = cos xdx
- sin x !

— d x=0u=0

__[~sinx o1 1 x:a,uzl

COS X — [ug}
= — log|cosx| + ¢ 8 o
_ 1
= log|cosx]| "y = g(l8 - 0)
= log|secx| + ¢ i




(ix) 2020 Extension 1 HSC Q12 d)

: ;
f cos Sxsin 3x dx = %f {sin(—2x) + sin 8x}dx
0 0
[z
= Ef (sin 8x — sin 2x)dx

Exercise 7D; ’ i

1ain, 2bdfh, 6eg, 7, 8¢, 9d, | _ 1[ 1 esr 4 Lo ZXT
10, 11, 12b, 13a, 14b, 2 8 2 0

15a, 16ace, 17, 18, 20b i

:1(11+11)
2 &8 2 8 2

Exercise 7E;
5hdf, 6b, 11, 12, 13, 1
18, 20, 21, 22 2
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